48" GARAGE WORKBENCH

USER’S MANUAL

£

/j\KX

1
WeRe)

—7/

HaXe)

&=

WARNING!




PART LIST

o . SUPPORT X1

(] o o

® BOARD X1 |oooooooooo]

|oooooooooo]

|oooooooooo]
i

|oooooooooo]

LEG EXTEND X4

©
] - T FEEEEEE

(E) M8X16 BOLT X7

EEEE —

(F) M10X20 BOLT X4 (© TooLs x2 (H ADJUSTABLE KNOBS X8

LY V¥

Q) FoOTCUPS X4

TIPS:
1.Don’t fasten all bolts and nuts tightly at first,you may need to rework if you make some mistake.
2.We recommend that 2 adults are required to complete the installation.




Step 1.Fasten Leg To The Rubber Board
1.Put the rubber board on a clean ground,in order to protect the rubber board, we suggest you to put
somethingbetween ground and rubber board,like soft cloth.

2.Align the holes on the leas with those on the rubber board.use E:M8*16 bolts to fasten C:leas to
rubber board

(A BOARD X1
© LEGS x2
= (® M8X16 BOLT X4

Step 2.Fasten Supports To Rubber Board And Legs
1.Use F:M10*20 bolts to fasten support to leg.

NOTE: F is fixed at knob H shown in STEP3 and needs to be removed. (® M8X16 BOLT X3
2.Use E:M8*16 bolts to fasten supports to rubber board @ M10X20 BOLT X4
=

0

0 ? =

| L=
jc= -
\




Step 3. Fasten Leg Extend To Legs

Use H:adjustable knobs to fasten the D:leg extend to the legs,and feel free to adjust the height.

=
N ADJUSTABLE KNOBS X8
f?"@) @ : [ LEG EXTEND X4
0 10
=
b e :
It -~ To ©F
~ . AH l:
~P" lo
® @ 0 SINNG

|

® " a®

o O(«aaonao

Step 4.Install J: Footcups On Leg Extend

=) =) ©
=

-]




Step 5.Finish

After you check that there are no errors,fasten all bolts and nuts,then finish!

7T

/s

HeXa)

(=






